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ECONOMICS — GENERAL
Paper : GE/CC-1
(Introductory Microeconomics)

Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.
Group - A

1. Answer any fen questions : 2x10
(a) What is Capitalistic or Market Economy?
(b) What do you mean by Opportunity Cost?
(¢) What is marginal utility?
(d) State the Law of Demand.

(e) Define income elasticity of demand.



10.

11.

(3) [ X(Ist Sm.)-Economics—G.’(GE!CC-I)fCBCS |

(g) What will be the shape of average fixed cost curve in the short run?

(h) Define an indifference curve.

(D What is substitute good?

() What is a monopoly market?

() What is budget line of a consumer?

(k) What is price consumption curve?

() What is Quasi rent?

(m) What is the shape of Average Revenue and Marginal Revenue curves under perfect competition?
(n) What is marginal productivity of labour?

(o) Distinguish between nominal wages and real wages of labour.

Group - B

Write short notes on any three : 5%3

The determinants of demand

. Features of indifference curves

Relation between short run average cost and marginal cost
Difference between substitution effect and income effect
Difference between returns to scale and returns to a variable factor.
Group-C
Answer any three questions :

Define price elasticity of demand. Describe the difference between perfectly elastic demand and
perfectly inelastic demand with diagram. 446

Explain diagrammatically the concept of total product, average product and marginal product for a
variable factor. - 10

Explain the short run profit maximising condition of a firm under perfect competition with the help of a
diagram. 10

Define an isoquant. Discuss the features of an isoquant. What is the expansion path of a firm? 3+4+3

What is economic rent? Discuss the modern theory of rent. 347
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ECONOMICS — GENERAL

Paper : GE/CC-3

(Issues in Economic Development in India)

Full Marks : 65

Candidates are required to give their answers
as far as practicable.

in their own words
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The figures in the margin indicate full marks.
Group - A
1. Answer any fen questions : 2x10

(a) Mention two reasons for mass poverty in India.
(b) What is human capital?

(¢) Mention two functions of World Trade Organisation (WTO).
(d) What is relative poverty?-

(e) Mention two importances of the education sector in India,

(f) Mention two assumptions of the Lewis Model related to economic development
(g) What is vicious circle of poverty?

(h) Define terms of trade.

(1) Mention two objectives of the formation of Self Help Group.
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() Define dual economy.

(k) State two objectives of GATT.

(I) What is surplus labour?

(m) What is Lorenz curve?

(n) State any two factors that determine economic development of a country.

(0) Mention any two reasons behind high population growth in India.
Group - B
2. Write short notes on any three of the following : 5x3
(a) Human Development Index
(b) Objectives of World Bank
(c) Features of underdevelopment. of India
(d) Unfavourable impacts on India as a member of World Trade Organisation

(e) Measures taken for development of Indian health sector.

‘Group-C S
3. Answer any three questions of the following :
(a) Describe the objectives and functions of International Monetary Fund (IMF). 4+6
(b) Present the concept of Balanced Growth. What are the limitations of this theory? 6+4

- (c) What are the reasons for inequality in the distribution of income in India? Discuss the remedial
measures adopted by the government in this context. ) 4+6

(d) What is Per Capita Income? Discuss whether per capita income can be used as an index of
economic development. 248

(e) Discuss the impact of population growth on economic development of a country. ' 10
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Paper : GE/CC-4
(Indian Economic Policies)
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Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
Group - A
1. Answer any fen questions : 2x10

(a) What do you mean by disinvestment?

(b) Mention two functions of NABARD.

(c) Indicate two causes of low productivity in Indian Agriculture.
(d) Mention two major problems faced by the public sector of India.
(e) What was the function of BIFR?

(f) What is MSME?

(g) Mention two non-institutional sources of rural credit.

(h) Mention two export items of India in recent times.

(1) Mention two features of Industrial Policy of 1991 adopted by government of India
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(i) Define fiscal deficit.

(k) Mention two functions of RBI.

(I) State two causes of adverse balance of payments account in India.
(m) State two basic features of Indian economy.

(n) What is secondary sector?

(0) What is capital formation?

Group - B
2. Answer any three questions : &

(a) Briefly explain the problems of agricultural marketing in India.

(b) Briefly describe the role of NABARD in agriculture and rural development.

(¢) Evaluate land reform policy in the context of Indian agriculture.

(d) Briefly explain the importance of introduction of GST in the context of tax reform in India.
(e) What are the limitations of Exim policy in post-reform period.

Group - C

3. Answer any three questions :

(a)

(b)
(c)

(d)
(e)

Discuss the problems of rural credit in India. What are the steps taken by the Government to solve
the problem? 5+5

Describe the role of small scale and cottage industry in the economic development of India. 10

What are the reasons for industrial disputes in India? In this context discuss some social security

measures. 3+5
Describe the effects of Green Revolution in Indian agriculture. 10
Discuss the volume, and direction of India’s foreign trade after independence. 10
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[ English Version ]

The figures in the margin indicate full marks.

. Answer any ten questions : “ 2x10

(a) What is a deposit multiplier?

(b) Mention two recommendations of Narasimhan Committee for reforms of banking system in India.
(c) Mention two importances of Financial Market.

(d) If CRR is 10%, what will be the value of money multiplier?

(e) What are the motives of holding cash in hand?

(f) What is financial intermediary?

(g) Mention two functions of commercial bank.

(h) What is the difference between Gross interest and Net interest?
(i) Mention two differences of Money Market and Capital Market.
(G) Mention two limitations of Indian Money Market.

(k) Name two nationalized banks of India.

(I) What is financial system?

(m) Write the full form of SEBIL

(n) What are the components of the Financial Market?

(o) What is open market operation?

. Answer any three questions :

5x3
(a) Mention the function of secondary or share market,

(b) What are the different measures of money supply?
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(¢) Describe the structure of Indian capital market.

(d) Write a short note on Repo.
(¢) Mention the major reforms of Indian banking sector.

Answer any three questions -

(a) What is a financial institution? Write down the classification of financial institutions.

347
(b) Define differential interest rate. What are the reasons for the differential interest rate? 2+8
(¢) Discuss the credit expansion policy of the Reserve Bank of India. o

; - ?
(d) What is demonetisation? What are its objectives? What are its effects on the Indian econorréi.%s
i : ? 4+
(e) What is the significance of financial system? What are the functions of a financial system? 446
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Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

Group — A

1. Answer any fen questions : 10
(a) Define Entrepreneur.
(b) What do you mean by diversification?
(¢) Write down two sources of finance for new ventures of an enterpreneur.

(d) Define large scale industries.



10.

11.

12.

13.

(3 ) X(6th Sm.)-Economics-G/(SEC-B-2)/
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(e) Mention two advantages of merger.
(f) What do you mean by industrial sickness?
(g) Write two disadvantages of entrepreneurship.
(h) Define Expansion.
(i) What is National Small Industries Corporation?
(i) Mention two functions of Small Industries Development Bank of India (SIDBI).
(k) Write any two problems of rural entrepreneurship in India.
(1) What is the full form of NABARD?
(m) Mention any two steps taken to remove industrial sickness in the small business.
(n) Define Manager.

(0) Define innovative idea.

Group - B

Answer any four questions. 5%4
Write down the functions of the Entrepreneur.
Write down the stages of small business growth.
Discuss the elements of entrepreneurship.
What are the causes of industrial sickness in small business?
Define sub-contracting. How does sub-contracting work?

Write down the features of small business.

Group - C
Answer any four questions.
Write down the functions of District Industries Centre. 10
Discuss the evolution of Entrepreneurship in India. 10
10

Write down the government policy and measures adopted for the growth of small businesses.

es you think one entrepreneur

Write down the characteristics of Entrepreneurship. What are the qualiti
6+4

should have in order to develop entrepreneurship?

Discuss the linkage between entrepreneurship and economic development. 10

Discuss the guidelines of Planning Commission for formulating a project report by an entrepreneur. 10
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Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

Group - A

. Answer any fen questions : 2x10

(a) What is the difference between ‘cross-section’ and ‘pooled’ data?
(b) Give two disadvantages of field-survey data.

(c) What is panel data?

(d) Why is a pilot survey needed?

(e) What is complete enumeration method?

(f) Mention two features of a good sample.

(g) Differentiate between Population and Sample.

(h) What does sample-survey mean? '

(i) “Field survey data is primary data”, True or false?
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() What does SRSWR. mean?
(k) What is sampling error?

(1) Define simple random sampling.

(m) Mention two important aspects in constructing a good table.
(n) What is blank table for sampling?

(0)

. Answer any four questions :

What is cross-checking of data?

Group - B
5x4

(a) Discuss how to represent field survey data in tabular form.

(b) Differentiate between pooled and panel data.

(c) Write a note on ‘simple random sampling without replacement’.

(d) Discuss the disadvantages of applying complete enumeration method.

(e) Explain the stratified random sampling method with the help of example.

(f) What is the significance of unit of measurement in recording of data?

Group - C

Answer any four questions :

(a)
(b)

(©)

(d)

(e)

()

Why is field-survey data important for economic analysis? 10

Distinguish between primary and secondary data with the help of examples. Discuss the comparative
advantages of primary data. 416

Discuss the difference between sample survey and complete enumeration. Discuss their advantages
and disadvantages. 4+6

What are the advantages of Simple Random Sampling? Discuss in brief the method of using Random
Number Table. 545

Govt. of West Bengal started a conditional cash transfer scheme (Kanyashree Prakalpa) in 2013.

You want to see its impact on girl child marriage and women’s empowerment. Prepare a
questionnaire for your project. 10

How is cross-checking done after tabular representation? 10
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The figures in the margin indicate full marks.

Group - A
Answer any ten questions : 2%x10
(a) What do you mean by ‘SHG’?
(b) Define ‘Micro-Enterprises’.
(c) What is the full form of ‘MGNREGA’?
(d) What is ‘Co-operative Bank’?
(e) What is the full form of ‘IRDP’?
(f) What do you mean by ‘School Dropouts’?
(&) Mention two main functions of Commercial Banks in Rural India.

(h) What are the tiers of Panchayat system in India?
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() Define ‘Rural Bank’.

() What are the main functions of ‘N.R.E.P.’?

(k) Mention two adverse impacts of ‘Child Labour’.
(1) Mention two functions of ‘Zilla Parisad’.

(m) What is the full form of MSME?

(n) What is ‘Gram Sava’?

(0) Mention two objectives of NREP.

Group - B
Write short notes on (any four) :

(a) ‘Pradhan Mantri Gram Sadak Yojana’

(b) Features of ‘Mahatma Gandhi National Rural Employment Guarantee Scheme’
(c) Functions of Self-Help Group (SHG)

(d) Importance of agriculture in Indian economy.

(e) Critical evaluation of Micro credit in rural development.

(f) Ojectives of Sarva Siksha Abhiyan.

Group - C

Answer any four questions.

. Discuss the role of Non-government Organizations (NGOs) for overall rural development.

. Discuss the role and importance of ‘Rural Banks’ for supplying credit in India.

has been successful?

5%4

10x4

. Discuss the role and importance of Three-tier Panchayat System for rural development in West Bengal.

. Discuss the reasons for launching ‘Mid-day Meal’ programme in India. Do you think, this programme

Discuss the objectives of National Rural Health Mission (NRHM). Explain the impact of this scheme on

rural development.

. Discuss the role of NABARD in rural development of India.
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Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

Group - A

Answer any ten questions : 2%10
(a) What are the main elements of rural development?

(b) In which year the West Bengal Panchayat Act was passed? What does this act stipulate?

(c) What are the three tiers of Panchayat System?

(d) Define a micro-enterprise.

(e¢) What is micro-credit?

(f) What is MGNREGA?



10.
11.

12.

13.
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(g) What is ‘Child labour’?
(h) What is an NGO?
(i) What are the objectives of ‘Mid Day Meal Scheme’?
() What is the meaning of SIDBI? What is its primary objective?
(k) State any two functions of Gram Panchayat.
() Mention two arguments in favour of formation of Self-Help Group.
(m) State any two characteristics of Indian rural sector.
(n) What is the full form of NRLM? In which year was the mission launched?
(0) Indicate two reasons of school drop-outs in India.

Group - B

Answer any four questions. 5x4

Discuss the linkage effect between rural non-farm and farm sector in brief.

. Describe the Organisational Structure of the Panchayat System.

Discuss the role of NGOs in ensuring rural development in India.

. Distinguish between centralized and decentralized planning.

Discuss the role of Grameen Bank in the context of rural development.

State any. two unique features of MGNREGA and discuss its positive impact on rural development of
India.

Group - C

Answer any four questions.

Critically evaluate the role of SIDBI and MUDRA Bank in rural development in India. 5+5
Discuss the major problems of rural industrialization in India. 10
What are the objectives of PMGSY Programme? Explain its impact on rural development. 6+4

Discuss the objectives of NABARD. Evaluate its role in promoting rural development in India. 5+5

When was the NRHM Launched? State the principal objectives of this programme. Discuss the impact
of this mission on India’s rural development. 2+4+4

What are the primary causes of the problem of child labour in India? Discuss the steps taken by the
Government to address this problem. 545




